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1 |deEE 1.7E+0| 4.9E+1 50.8 50.8
2 |EHEE 1.3E+1 13.0 13.0
3 | 5FER 7.7E+2 770.0 770.0
4 |EHRE 6.5E+1| 9.2E+1 156.8 156.8
5 |MHE
6 [ILER
7 |EEBR 1.3E+1| 9.5E+1 108.0 1.1E+3 1,130.0 1,238.0
8 |ZWE 8.5E+0| 1.5E+0 10.0 9.5E+2 948.9 958.9
9 [HARE 6.1E+2 610.0 1.7E+0| 1.5E+4 15,129.9 15,739.9
10 [HEE 9.0E-1 0.9 2 3E+2 231.0 2319
11 |BEE 1.4E+1| 3.6E+2 371.2 3712
12 |FEER 1.6E+1 16.0 70E-1| 2.3E+2 231.6 247.6
13 |HREER 1.2E+2 119.0 119.0
14 |[#FIE 1.7E+2| 8.9E+2 1,054.1 1,054.1
15 |#RE 3.1E+2 310.0 7.0E+2 700.0 1,010.0
16 |SWE 4.0E+0 4.0 2.7E+1 27.0 31.0
17 |RBINE 1.5E+2 150.0 3.8E+2| 9.0E+2 1,281.1 14311
18 |fEHE 2.7E+1 27.0 27.0
19 |ILBE 8.1E+1 81.0 81.0
20 |REHR 1.4E+0 1.4 1.5E+3 1,524.5 15259
21 [IHBE 5.0E-1 0.5 2.9E+3 2,891.0 2.8915
22 |EEE 2.0E-1 0.2 4.7E+1 46.7 46.9
23 |BHIE 1.5E+2 148.0 40E+1| 1.6E+4 15,602.5 15,7505
24 |[ZEE 1.3E+3 1,290.5 6.2E+3 6,240.4 7.,530.9
25 |HER 9.4E+2| 3.3E+3 42578 42578
26 |[TRHEDAF 3.0E+0| 3.5E+0 6.5 6.5
27 | KBRFF 2.1E+1 21.0 1.5E+2| 1.2E+3 1,395.2 14162
28 |EER 2.3E+0 2.3 7.7E+1| 6.8E+3 6,911.6 69139
29 |ERE 1.1E+0| 1.1E+0 2.2 2.2
30 [fOFRILE 1.3E+2 127.0 2.0E+1| 2.0E+3 2,004.3 21313
31 |EmE
32 |BiRE 1.4E+0 1.4 1.0E+0| 1.4E+0 2.4 3.8
33 |[EWLER 1.4E+1| 2.1E+2 226.0 226.0
34 |[LER 2 3E+1 23.0 1.0E+2 100.0 123.0
35 [wOg 2 9E+2 290.0 5.7E+2 567.0 857.0
36 |EER
37 _|FBINER
38 |ZRE
39 |=BHER
40 [fEME 1.0E+1 10.0 4.7E+2 474.0 484.0
41 |[1EBE 4.0E-1 0.4 4 9E+4 49,099.8 49.100.2
42 |RBE
43 |RERIE
44 | KHE
45 [EIBE
46 |[BRIEBE 1.6E+0 1.6 1.6
47 [;hiBe
& [F 40E+1| 3.1E+3 3,137.6 2.0E+3| 1.1E+5 113,662.9 116.800.5
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